
Workbook 6 Sample Problems 

 

You are Responder 

What would you bid with each of the following hands assuming the bidding 
went……?  Why would you choose this bid? 

 

Opener      Responder 

   1NT 2♣ 

   2♦  ?  What has opener told you? 

  _________________________________________  

 

 

71) ♠QJ875  ♥AK43  ♦75  ♣32 __________________________  
 

72) ♠A632  ♥AQ743  ♦74  ♣73 __________________________  
 

73) ♠AJ104  ♥Q943  ♦985  ♣Q3 __________________________  
 

You are Responder 

What would you bid with each of the following hands assuming the bidding 
went……?  Why would you choose this bid? 

 

Opener      Responder 

   1NT                2♣ 

    2♦          ?  Opener has 15-17 points and no 4-card major suit 

 



1) ♠QJ875  ♥AK43  ♦75  ♣32 

3♠.     10 points.  I have enough points for Game and a five card 

spade suit.  I will let partner decide whether we should play game 
in spades or NT.  Partner will decide based on whether or not he 
has a spade fit. 

 

2) ♠A632  ♥AQ743  ♦74  ♣73 
3♥.     10 points.  I have enough points for game and a five card 

heart suit.  I will let partner decide whether we should play Game 

in hearts or NT.  Partner will decide based on whether or not he 
has a heart fit. 

 

3) ♠AJ104  ♥Q943  ♦985  ♣Q3 
2NT.     9 points.  I will let partner decide whether to play Game or 
Part Score.  He will decide based on the strength of his opening NT. 

 


